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; 100kN/m%#B% % - ~ -[3mZEEBZS -~ - -| 100kN/Mi%Z#BZ % - ~ -|3mEEZ B -~ -
Zh s ~ Zh s ~ Zh st ~ Zh s ~
2 100kN/m##B2%| 1.00 | 000 ~ 1.68| 12580 |3Im&E8Z5% ~ -| 100kN/m%#BZ 5| 1.00 | 1053 ~ 1648 125.80 |3m&E#ZD -~
znLs 1.00 | 1.68 ~ 947 100.00 | =0 | 000 ~ 947|217 10.97 Zzh st 1.00 | 5.00 ~ 1053 100.00 | =nS | 6,00 ~ 1648|217 10.97
3 100kN/m#Z#8%5%| 1.00 | 000 ~ 1.26| 119.01 |3m%EBZ% ~ -| 100kN/m%#B2 5| 1.00 | 11.80 ~ 1792 119.01 |3mZE¥Z5D -~ -
znLs 1.00 | 1.26 ~ 9.04 100.00 | =nLst | 000 ~ 9.04)| 1.98 9.99 Zzh st 1.00 | 5.00 ~ 1180 100.00 | =nS | 6.00 ~ 1792 1.98 9.99
4 100kN/m%#E% % ~ -[3mZEEBAS ~ -| 100kN/Mi%Z#BZ % ~ -|3mEEZ B -~
s 1.00 |1 0.00 ~ 6.79 85.89 | hds | ooo ~ 679|197 9.94 Zzh st 1.00 | 5.00 ~ 9.13 85.89 | #nLs | 5.00 ~ 9.13|1.97 9.94
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